Sologis -

Pneumatic Actuator

www.badranpneumatic.com | www.badran.ir

Ospabasil 511 53 s\ ol



Product description

Slogz, bl
d ' -ﬁ

Indicator
Position indicator with NAMUR is convenient for mounting accessories such
as limit switch box, Positioner.

Pinion

The pinion is high-precision and integrative, made from nickelled-alloy steel
J[full conform to the lastest standards of 1ISO5211,DIN3337,NAMUR.The
dimensions can be customized and the stainless steel is available

Actuator Body

According to the different requirements, the extruded aluminum alloy
ASTM6005 Body can be treated with hard anodized, power polyester
painted (different colors is available such as blue, orange, yellow etc.), PTFE
or Nickle Plated.

End caps
Die-casting aluminum powder polyester painted in different colours,PTFE
or Nickel plated.

Pistons

The twin rack pistons are made from Die-casting aluminum treated with
hard anodized or made from cast steel with galvanization.Symmetric
mounting position,long cycle life and fast operation,reversing rotation by
simply inverting.

Travel adjustment
The two independent external travel stop adjustment bolts can adjust 5°
at both open and close directions easily and precisely.

High performance springs

Preloaded coatingsprings are made from the high quality material for
resistant to corrosion and longer service life,which can be demounted
safely and conveniently to satisfy requirement of torque by changing

quantity of springs

Bearing & Guides

Made from low friction,long-life compound material,to avoid the direct
contact between metals. The maintenance and replacement are easy and
convenient.

O-rings
NBR rubber O-rings provide trouble-free operation at standard temperature
ranges.For high and low temperatur applications Viton or ilicone.

Tigu drer Widlo (o s (5l wlivo 90l ol b CoxBgo SILLS
Mb@Mpons

Ugay

J9b 6y .l 630 Sl JSuo GLIT SUGA jI 318 (UL S2) LSy g B (jguin
S5lg3 5o Slel .cauwl ygols g 1505211,DIN3337 sl ylastial cpay3T b sl JolS
bl ;0 39290 11555 Sub SUgd Jao g Sl (5 yidio CawlgS s Gab

oo
25lg5 (50 63U 3g 1w SI ASTM6005 pgaiwogdl LT 6oy calizo culol Yl L (galho
q_,._a'l_d."wdl.'i'zotsu&_,) J.’iJJJIt,JJvLSJ.\B#&J g_j:!l_\l.'fl- 3l slo Sldac xS

2358 515 USw L PTFE UsSg ) 9 «(Camwl 39290 ... 9 3 apzi)s

65 g pw
ol yiiSg ) adlizo slo oy 3 yiwl yly 5392 b 63 S5 (5 S ey pgaiaogll
JSoUPTFEL

o y9Tuusy
b.'i.‘?l.wjﬂhL'JT)Jlﬁﬁll:flu&ﬂﬁ)gﬁézupmgﬂﬂggﬁg)ﬁlﬂ:glﬂo%
Jac Jgb oy Lo caual 5l . 3l 630l eiSlu 6 u51gMS (55 adity ) SUgS jI L il ool

.uugs.ioui‘éﬁs&u.mtsﬂ_,ls‘ul‘:

I+

8> ks
62,5 OB b g ol oy Auwlgh (50 S y> a5 kLS 559 4y 9 Jdiuo 2y 9>
-3 ulin 1) S o LaBg5 oy gl ug2 9330 o

UL 28 b bt 28

Ceoglio 6y YU CodnS b Slgo 31 cond (65135 )b iy 9 510 GiS'g) sla 8

9 >y a5 cuiazed g Wil ool Sl YU yoe Job g (S0y95 iy 0

0055 0L 9 o5 b HolidS Sl I G wipls (Fwigd oz cobiB YL Sl

S o] 8 L i iy

o lazol g Lo olELL

N erSela’ 6l oF Slaol g YU joe Job b (oS 55 Slgo 3l oo axs L
Wil (o0 el g Coly Hloms Ol pond g (6510455 33 (g udisians (Lol

o &y )0

le).'JL'huhleOéng_\ N‘DUSA:' ,_5)_;_,15 UlS.nl NBR k,&a.uuu S Lﬁ&'a.:u-o

WSl L Viton slgo jl by slos L UL glos glas ) 1S (sl .30y o |y
.3guly 50 038wl




Boaddrcars

Pneumatic Components

Parts and Material Slgo g culnhs

=

|N‘(«(
({{"

v

W
q

(i (0@

L
G

et

favaneili

o | oesatpuon [ ay [ SwnderdVetersl | Protection | optomafMeteri) [ e |

1 Indicator screw 1 Plastic !
2 Indicator 1 Plastic Slds p
3 Axis block 1 Stainless steel Lo
4 Metal gasket 1 Stainless steel | ] GHS N s F
5 Outside washer 1 Engineering plastics 2Bty o
7 Inside washer 1 Engineering plastics I el IR
10 Shaft support ring 1 Engineering plastics cad oo Siedl> 1o
12 Lower shaft supporting ring 1 Engineering plastics i oS 0uSS il 6dl> 1P
20 Piston support ring 1 \ Engineering plastics gy oS osSieil> po
9 Bearing(Pinion top) 1 NBR ] I Viton/silicone e IS
13 Bearing(Pinion bottom) 1 NBR Viton/silicone (ohly i) BLL
15 O-ring(Adjusting bolt) 2 NBR J Viton/silicone (i g Say-0 1
21 O-ring(Piston) 2 NBR Viton/silicone (i) Siy=0 )
23 Plug 2 NBR Viton/silicone Sy pe
14 Plugs 2 NBR Viton/silicone [PYL TR
16 Screwnut P Stainless steel i 080 1%
17 Adjusting bolt 2 Stainless steel PabSan  jy
18 ‘Piston 2  Die-casting aluminum Oghu A
19 Piston guides 2 Stainless steel Hard anodized etc Uiy sleisl) | q
6 ~ Body T Aluminum POV
8 Cam 1 Alloy steel Hard anodized etc Sols 5
1 - Axis 1 Alloy steel 920y
22 Spring 0~12 Spring steel Nickel plated Stainless steel £ pp
24 End cap 2 Die-casting aluminum Dip coating Jg5gzSles  pi
25 End cap fastening bolt 8 Stainless steel Powder polyster painted etc JoiaSleS gy pg




Operating Principle S Slae

Double Acting Actuator

CCw

Air to port A forces the pistons outwards, causing the pinion to turn counterclockwise while the air is being exhausted from port B.
-39 50 215 B gy jl g 68> 43 Sz 3 Sl Sy oy Soub Lo el AS M3l 5o gk g2 g3 bl gy A gy s Ige
Air to port B forces the pistons inwards, causing the pinion to turn clockwise while the air is being exhausted from port A.
.)y‘i‘:uoaJL'vA&Jgf__jl lga 635> 5> A5, )JS.mLmuH)yi':Uo&.:baSmuodmd:bn_pJ) 7] LQQMB&J%JA Igd
Air to port A forces the pistons outwards, causing the pinion to turn clockwise while the air is being exhausted from Port B.
-39 50 215 Bilygy jlIgm Sl 3 352 > Siicl gy 394 50 Cacly 63 S5l o (g s ag2 43 |y Ud gy A g, 5 I
Air to port B forces the pistons inwards, causing the pinion to turn counterclockwise while the air is being exhausted from port A.

-QS&MEJBA‘:US-'.,.J" IgmmS*ll;J)b)&n)ﬂichu)b?ugﬁagﬁuodmyﬁmundadﬁbWJaIJLmug“.nm,uchug.,__J) [CY:)

Spring Return Actuator 215 518 5ld 0535S Jos

Spring Return Actuators
ccwW

Air to port A forces the pistons outwards, causing the springs to compress, the pinion turns counterclockwise while air is being exhausted from port B.
-3l 50 215 B gy lg 68> 4> 3352 ;0 3 Siiclw Sb gl - Mgl 03 418 Ly y18 Sgud (0 Cacly 63 33 0 Y9 ag2 o |y Lo gty A Lygy S Igo
Loss of air pressure on port A, the stored energy in the springs forces the pistons inward. The pinion turns clockwise while air is being exhausted from port A.
A UJS#J“”NL’ J> _\;;_,e\_,o ))&i.clm lﬁm..\mﬁwdﬁ&biae?_,) |J Lﬁug.;uu.# slﬁ}lé > o.\.ﬁho,,,.é'; L}.AMU':I.#GjJJI&A &JHJ) |9QJU’A'A§L‘)1§J LJ-UJILJ

3948 0 éJlb
Air to port B forces the pistons outwards, causing the springs to compress, the pinion turns counterclockwise while air is being exhausted from port B.

.)gﬁwaJLﬁB&Jg.#_jl lga S>> AJ)?UDAJL.:Lwébqu .20 0.3 318 L 338 3guls 0 Cacly 68 Aily Lo (g e Cug> 3 |y bugmﬂB&J%Jb lg
Loss of air pressure on port A, the stored energy in the springs forces the pistons inwards. The pinion turns clockwise while air is being exhausted from port A.

2JB A9y jl 199 6SL> 43 3512 50 3 Siicku yguiny . S1B ;0 Jo JSI5 ag> 55 | 1 gty ol a8 55 05ub 6u53 Jaswsliy (5551 A gy > lged jLid (38 s 1L
&

-394 50




Bodrary

Pneumatic Components

Output Torque of Double Acting Actuators

ad,b g5 sSldsaussS Jae 295 jolidS

T

Output Torque
P95 JotudS

Rotation
ulgs
. Y .
0° 45° 90°
Unit:Nm
Model Air supply pressure ( Unit:bar)
2 2.5 3 4 4.5 5 5.5 6 7 8

DA-32 3 4 5 6 7/ 8 8 9 11 12
DA-40 5 6 7 10 11 12 13 14 17 19
DA-52 8 10 12 16 18 20 22 24 28 32
DA-63 15 18 22 29 33 36 40 44 51 58
DA-75 20 25 30 40 45 50 55 60 70 80
DA-83 31 39 47 63 70 78 86 94 110 125
DA-92 45 56 68 90 102 113 124 135 158 181
DA-105 66 83 99 132 149 165 182 198 231 264
DA-125 100 125 150 200 226 251 276 301 351 401
DA-140 171 214 256 342 385 427 470 513 598 684
DA-160 266 332 399 532 598 665 731 798 931 1064
DA-190 426 532 638 851 958 1064 1170 1277 1490 1702
DA-210 532 665 798 1064 1197 1330 1463 1596 1862 2128
DA-240 769 962 1154 1539 1731 1924 2116 2308 2693 3078
DA-270 1170 1462 1754 2339 2632 2924 3216 3509 4094 4679
DA-300 1526 1908 2289 3052 3434 3815 4197 4578 5341 6104
DA-350 2285 2856 3427 4570 5141 5712 6283 6854 7997 9139

DA-400 3256 4070 4884 6512 7326 8140 8954 9768 11396 | 13024

Sizing: Double Acting Actuator

The suggested safety factor for double acting actuators under normal working conditions is 20%-30%

Example:

The torque needed by valve = 100N.m

The torque considered safety factor (1+30%)=130N.m

Air Supply = 5Bar

According to the above table, we can choose the minimum model is DA105.

a5,b g3 6555S Jas 15 a8 6 j151

.A.n'bl.‘uuomJ;F'oulll‘oq_]Lo_,.'-LgJISh_.gl_H‘bﬁaﬁaéJbSAGhoMﬁSdn:lslﬂlsél@:m‘%dLﬁblw_Pb

:JUo
Fio (g5 | 0 0 gl jglidS

i pigu 1Fo = (%P o+ 1) glisabl cupd i8S B 55 b jglidS

JL O 03040 ol 5lgn jLES

Sl ;0 DAT05 S il puslgs 150 65 3o maiuo (Ul Jg s> §:b



Output Torque of Spring Return Actuators

Output Torque i Output Torque

Rotation Rotation

- -
0° 45° 90° 0° 45°¢ 90° Unit:Nm
Output torque of air to springs Springs’ output
Air pressure 2.5BAR 3BAR 4BAR SBAR 6BAR 7BAR 8BAR
Model |527ina] O° 90° 0 90° (3 90° 0 % | 0 90° | 0 S | 0 90°
Qty. [ Stant End Start End Start End Start End Start End Start End Start End
K5 57 38 7.6 5.7
K6 | 49 | 25 69 45 109 | 85
K7 | 40 |13 6.0 3.3 9.8 73 140 | 104
— K8 52 2.0 9.2 6.0 132 | 91 172 | 141
K9 43 08 83 48 123 | 79 163 | 128 | 203 | 168
K10 74 3.6 155 | 116 | 195 | 156
K11 6.6 23 10.6 54 14.6 104 186 14.3 22.6 183
12 9.7 42 138 | 91 178 | 122 | 28 | 171
KS_ 1114 |77 150 | 114 223 | 145
K6 | 101 | 5.7 136 | 83 209 | 166 | 283 | 239
K7 |86 36 125 | 72 195 | 145 268 | 219
X8 109 | 51 182 | 124 255 | 1938 328 | 270 | 401 | 343
SR-63 K9 168 | 104 | 241 | 177 | 314 | 249 | 387 | 32.2
K10 14 | 82 |z2sll|las60) 300 | 228 | 373 | 301 | 447 | 374
K11 215 | 135 | 287 | 207 | 360 | 280 | 433 | 353
K12 200 | 114 | 273 | 186 | 346 | 259 | 419 | 333
KS | 145 | 106 | 194 | 155 295 | 257
K6 | 124 | 76 173 | 126 274 | 227 | 315 | 328
«7 | 104 | a8 152 | 97 253 | 199 | 354 | 299
SR-75 X8 131 | 68 231 | 169 | 333 | 270 | 432 | 370 | 533 | 470
K9 210 | 141 312 | 241 | 411 | 34 512 | 442
K10 190 111 39.0 322 49.1 412 59.1 512
K11 270 | 183 370 | 283 470 | 384 | 570 | aB4
K12 249 | 154 | 349 | 254 | 449 | 354 | 549 | 454
KS | 233 1| 31 240 468 | 397
K6 | 20.1 15 | 280 S. 437 S. 4 | so7
K7_| 170 5.9 248 a. 40.5 0. 2 462
SR-83 K8 217 0. 4 | 25 : 415 | 688 72 | 84S 72.
K9 4.2 . 499 | 370 | 65 6 c
K1 1.0 | 166 “ 62.4 480 | 78 637 | 938 793
K1 43, 27. 9. 34 75. 531 | 90, 74.
Ki2 30.4 232 56. 389 717 S4S | 874 70.2
KS | 33 230 | aa: 332 | 668 | 55!
K6 | 284 52 | 39, 264 | 62. 49 B4, 716
K7 | 238 8.2 34/ 19.4 S7. az. 80.2 7
SR-92 K8 31 126 | S2. 352 75 79 | 98 80 20.7 | 1030
K9 48 28 4 7 1 73 1 96
K10 43, 215 ’ 66.7 & 89.2 330 | 1118
Kil y ¢ B4. 59, 834 292 | 105.0
K12 568 | 304 79.4 53 019 | 755 245 | 98
KS 1510 | 334 | 67. 49.9 006 | 830
K6 | 447 'S 1. 30, 73.2 vy 1062
K7 | 384 7 | 54 30. 7. 4 210 | 964
SR-105 | K8 48. 204 | 8l ; 47| 865 | 1477 | 1196 | 1808 | 1527
K9 £ a3, 1084 | 768 | 1415 | 1098 | 1745 | 1429
K10 689 | 324 351 | 996 | 1682 | 1326 | 201.2 | 165.
K 95.7 T 28.7 | 90. 1618 | 1231 | 1948 | 156.
K12 89.4 475 225 80.6 155.5 113.6 188.€ 46.
[3 73 47 98 72 48 122
K6 | 63 31 88 56 33 107 188 157
K7_| S2 15 77 40 27 | 90 78 41
SR-125 | K8 67 25 17 75 657 25 217 176 268 | 226
X9 07 59 7 09 207 159 257 | 210
K10 96 a4 196 144 247 194 297 | 245
K11 136 | 78 186 | 128 236 | 178 286 | 228
K12 L 125 63 176 113 226 | 163 276 | 213
KS | 128 85 171 127 256 | 213
K6 | 111 59 154 102 239 187 325 273
K7 | 94 33 137 76 222 | 162 308 247
SR-140 | K8 120 50 205 136 291 221 376 | 307 462 392

K9 187 110 273 196 358 281 444 367

K10 170 84 341 255 427 340 512 426
K11 238 143 324 229 409 314 495 400

K12 7221 [ 118 | 307 203 392 289 478 374




Bodrary

Pneumatic Components

Output Torque of Double Acting Actuators

UnitNm
Dutput torque of air to springs Springs’ output
Air pressure 258AR 3BAR 4BAR SBAR 6BAR 7BAR 8BAR
oo |90 |0 90" | o° 9 | 0 %° | o 90" | o 9% | 0 90°
wose (559
Start | End | Stat | End | Start | End | Start | End | Start | End | Start | End | Start | End
K5 | 193 | 124 | 259 | 191 | 392 | 324
K6 | 165 | 83 232 | 149 | 365 | 282 | 498 | 415
K7 | 137 | a1 203 | 107 | 336 | 240 | 469 | 373
K8 176 | 66 309 | 199 | 442 | 337 | 575 | 465 | 708 | 598
SR-160 k9 280 | 157 | 413 | 290 | 546 | 423 | 679 | 556
K10 253 | 115 |a8600|024800| 519 | 381 | 652 | 514 | 785 | 647
1 358 | 207 | 491 | 340 | 624 [ 473 | 757 [ 606
K12 330 | 165 | 463 | 298 | 596 | 431 | 729 | 564
KS | 332 222 | 438 [ 329 | 651 | 542
K6 | 292 | 161 | 398 | 267 | 611 | 480 | 824 | 693
KT | 252 |99 358 | 205 | 571 | 418 | 784 | 631
K& 318 | 143 | 531 | 356 | 744 | 569 | 957 | 782 | 1169 | 995
SRa e 491 | 205 | 708 | 507 | 917 | 720 | 1130 | 933
K10 451 | 233 [1066ANN| 044600 B77 | 658 | 1090 | &71 | 1302 | 1084
K11 624 | 384 | 837 | 597 | 1050 | 809 | 1263 | 1022
K12 584 | 322 | 797 | 535 | 1010 | 748 | 1223 | 960
KS_|390 | 285 | 523 | 418 | 789 | 684
K6 | 335 | 209 | 468 | 342 | 734 | 608 | 1000 | 874
K7 | 280 | 133 | 413 | 266 | 679 | 532 | 945 | 798
sR210 | K8 358 | 190 | 624 | 456 | 890 | 722 | 1156 | 988 | 1422 | 1254
K9 569 | 380 | 835 | 646 | 1101 | 912 | 1367 | 1178
K10 514 | 304 | NN78000|S7000 1046 | 836 | 1312 | 1102 | 1578 | 1368
K11 725 | 494 | 991 | 760 | 1257 | 1026 | 1523 | 1292
K12 670 | 418 | 936 | 684 | 1202 | 950 | 1468 | 1216
Ks [ 552 | 409 | 744 | 600 | 1129 | 985
K6 | 470 | 297 | 662 | 489 | 1047 | 874
K7 _[388 | 187 | 580 | 379 | 964 | 764
sR-240 [ KB 498 | 268 | 883 | 653 1422 | 2037 | 1807
K9 800 | 542 1311 | 1954 | 16%
K10 718_| 431 1201 | 1872 | 1586 | 2257 | 1970
K11 1090 | 1791 | 1474 | 2176 | 1859
K12 979 | 1708 | 1363 | 2093 | 1748
KS | 903 | 675 | 1195 | 968 | 1779 | 1552
K6 | 790 | 519 | 1083 | 811 | 1667 | 1396 | 2252 | 1981
K7_| 679 | 361 | 972 | 654 | 1556 | 1238 | 2141 | 1823
KB 860 | 497 | 1444 | 1081 | 2029 | 1666 | 2614 | 2252 | 3199 | 2836
SR-270 | K9 1332 | 923 | 1917 | 1509 | 2502 | 2094 | 3087 | 2678
K10 1220 | 767 |L 1805|8520 2390 | 1937 | 2974 | 2521 | 3560 | 3107
K1l 1693 | 1194 | 2278 | 1779 | 2862 | 2364 | 3448 | 2049
Ki2 1582 | 1037 | 2167 | 1623 | 2751 | 2207 | 3336 | 2792
Ks | 1097 | 729
K6 | 935 | 494 | 1316 | 875
K7 | 772 | 258 | 1153 | 639 | 1916 | 1402
SR-300 [ K8 991 | 403 | 1754 | 1166 | 2517 | 1929
K9 1592 | 930 [12355 | 1683 3118 | 2456
K10 1430 | 695 | 2193 | 1458 | 2956 | 2221 | 3719 | 2984 | 4482 | 3747
K11 2030 | 1222 | 2793 | 1985 | 3556 | 2748 | 4319 | 3511
K12 1868 | 986 | 2631 | 1749 | 3394 | 2512 | 4157 | 3275
K5 | 1553 | 964
K6 | 1292 | 586 | 1863 | 1157
K7_|1031 | 208 | 1602 | 779 | 2745 | 1922
K8 1341 | 401 | 2484 | 1544 | 3626 | 2686
|30 ' 2224 | 1165 | 3336 | 2307 | 4508 | 3449
K10 1963 | 787 | 31050 | 1829| 4247 | 3071 | 5390 | 4214 | 6532 | 5356
K11 2844 | 1551 | 3986 | 2693 | 5129 | 3836 | 6271 | 4978
K12 2584 | 1172 | 3726 | 2314 | 4869 | 3457 | 6011 | 4599
K7 | 2028 | 869
K8 | 1736 | 411 | 2550 | 1225
K9 2250 | 768 | 3887 | 239
K10 1967 | 311 | 3595 | 1939 | 5223 | 3567
K11 3303 | 1482 | 4931 | 3110 | 6559 | 4738
sR-400 | K12 3012 | 1025 | 4640 | 2653 | 6268 | 4281 | 7895 | 5908 | 9523 | 7536
K13 4348 | 2195 | 5976 | 3823 | 7603 | 5450 | 9231 | 7078
K14 S685 | 3366 | 7312 | 4993 | 8940 | 6621
K15 3765 | 1281 | 5393 | 2909 | 7020 | 4536 | 8648 | 6164
Ki6 [ | | 5101 | 2452 | 6728 | 4079 | 8356 | 5707




Dimension

DA/SR-32

4-M5¥8
P11

FO5 050

T

DA/SR-40 JF




Bodrary

Pneumatic Components

Output Torque of Double Acting Actuators a9 b g5 6a31S Jae 529> jolidiS

m

fm___|___m

4-M5x8

__E‘f"{

G1/4"NAMUR G1/2"NAMUR
Model AlB C - I F G| H 1 J K L MINIZ | @ | airconnection
DA/SR-32 |23 |23 [46 (46 |66 |46 25 | 50 ®36 | ‘M5x8 9 |11{110/®40|NAMUR G1/8"

DA/SR-40 |285/36.5(60 |60 |80 52 30 | 80 [P36 |®SO |M5x8 |Méx10 |11|14|122|P40/NAMUR G1/4“
DA/SR-52 |30 |415(655 |72 |92 |65 30 | 80 [®36 |®50 MSx8 |M6x10 1114|147 ®40 NAMUR G1/4"
DA/SR-63 {36 |47 (81 |88 |[108 |72 30 | 80 |[®50 [®70 |M6x10 |M8x13  |14/18|168|®40,NAMUR G1/4"
DA/SR-75 |42 |53 |94 |99.5 |119.5 81 30 | 80 |®50 |®70 |M6x10 |M8x13  |14/18|184|®40 NAMUR G1/4"
DA/SR-83 |46 |57 [985 |108.7/128.7| 92 30 | 80 [®50 |®70 |M6x10 |M8x13  |17/21|204|®40,NAMUR G1/4"
DA/SR-92 |50 [585(111 |116.5/136.5 98 30 | 80 [®50 |®70 [M6x10 [M8x13 |17/21|262|®40|NAMUR G1/4"
DA/SR-105/57.5/64 |122.5/133 |153 |109.5| 30 | 80 |®70 |®102 M8x13 |M10x16 |22/26 (268 ®40|NAMUR G1/4"
DA/SR-125|67.5| 74.5|145.5| 155 |185 |127.5| 30 | 130 |70 |®102|M8x13 |M10x16 |22|26|301|®55 NAMUR G1/4"
DA/SR-140175 |77 161 (172 |202 |137.5| 30 | 130 [®102 ®125 M10x16/M12x20 |27/31[390|®55/{NAMUR G1/4"
DA/SR-160/87 (87 |184 |197 (227 159 | 30 | 130 |®102| @125 M10x16/M12x20 |27|31|458|®55 NAMUR G1/4"

DA/SR-190/103 | 103 {215 |230 [260 | 189 |30 | 130 ®140 M16x25 |36/40(525/®80/NAMUR G1/4"
DA/SR-210{113 | 113 |235.5/ 255 285 | 210 | 30 | 130 ®140 M16x25 |36/40|532|980|NAMUR G1/4"
DA/SR-240/130 | 130 [264.5/289 (319 |245 | 30 | 130 @165 M20*25 [46/50|602|/®80 NAMUR G1/4"
DA/SR-270| 147 | 147 |299 |326 |356 |273 | 30 | 130 @165 M20*25 146/50|718/®80|NAMUR G1/2"
DA/SR-300/162 | 174 1330 |350 380 |312 |30 | 130 D165 M20*25 146|50|760/®80/NAMUR G1/2"

DA/SR-350/190 | 195 {483 410 (440 ' 365 | 30 | 130 |®165 @254 | M20*25/8xM16*25/46/50|920/980 NAMUR G1/2"
DA/SR-400]| 260 | 260 (1466 |466 |496 | 298 | 30 | 130 |®165|®254 | M20*258xM16*25|46/50 940980/ NAMUR G1/2"




W]/ =77
SKlogis -

Sizing: Spring Return Actuators J15 38 sl 0555S | Joe 1 Jguazo (5418 6 1551

The suggested safety factor for spring return actuator under . 3ubb 50 w03 B o I Mo Jlogs (G 18 byl iz s jid 63338 Joe (gl (§lgiiiny luabl cu o
normal working conditions is 30-50%

:Jbo

Example: U . o . a g

: = &gl Lo WV

The torque needed by valve = 80N.m o . Fe u-'9-“ Ae "'u'u ‘5"";’ 2J9°J9 e

The torque consider safety o (yig 1 o = (%o + 1) Glaabl o pd 58S JB3 5 b jglidsS

Factor (1+30%) = 104N.m JL O = 03,53 5lgd 1o

Air Supply = 5Bar sjl il cjlee SR140 K7 5glisS « s jud gl 6308 Joc 5295 Jg32 b
According to the table of spring return actuators output e . .

! : H JXeBVal I LJS
we find out torque of SR140 K7 is: Fo g oA 02> 5192 =22
Air stroke 0° = 308N.m o (g PV 1025 395 Slgad s &S >
Air stroke 90° = 247N.m FI0 5900 1A ] 1025 3g5 a8 )3 ISy
Spring stroke 90° = 18 1N.m 390 (55920 | Po 1620 a0 58 3 S y>
Spring Stroke 0° = 120N.m . . ey g .

. | Uss Iyl | L ;g LS Solas
All the output torque is larger than we needed. e r) l 61580 14 12 2905 5l2g ) e
Attention DS 62610 b0l
During the restoration, the spring return actuators output 10293

will not be affected by the inputting air from the port B.

edb | ! s B &gy 15599 g I j3lio 15 538 03558 Joo 52945 655 U S 04253 b b
On the contrary, it will help the restoration of springs.

During selecting the spring return actuators, we can choose USS o 35S L gl g 68 1) alito gla gliiS jSIls j18 sla 63358 Joe wiliisl b
the more rgasonable and more economical actuz.ators, if we oS Ll 1 (55 53baisl g 45 ko (gl 6334S Joe pulgs o «qauilsa [y 3505 Lo ¢y g
know the different torque needed by valve working at Jtio
opening, operating and closing. 7

Example: Fio (g | ok = 5l eulg yy i (512 U J9LiiiS mosuSlo
The max torque needed by the butterfly valve = T04N.m Fi0 (5GP = Ui ) 0 %o (y3yS Jo) 348 U jl uug jgliiS

The torque after opened(operating) 104*30% = 32N.m

L O = 630l (yuoli 519
Air Supply = 5Bar J

We can select the SR125K11 f°““s'—'b'“| Iy SR125K11 f°-”|9-'t:f
Output torque is: Il jlue 2935 jgliuiS
Air Stroke 0° = 136N.m>104N.m 0°=136N.m>104N.m g s gS

Air Stroke 90° = 78N.m>32N.m

90° =78N.m>32N.m Iga _w
Spring Stroke 90° = 173N.m>32N.m 99 98

Spring Stroke 0° = 115N.m>104N.m ) o> "*"“"" owlsl
The above data show the actuator’s torque can satisfy the 90° =173N.m>32N.m 18 u gS
requirement of the butterfly valve. 0°=115N.m>104N.m ji8 u,9S

23S 50 sl 1y (5l evlg gy s Silol I 038 Joc jgliiS oS S (50 L UL clelbl

')‘. %,
/JI \@\ ’_ﬁ’

Spnngs

8 Springs

@%@ @%
€ -© ®-©

N

9 Springs-‘ = 10 Spnngs

%‘% @% @% )
€9, %@ %@ ©g®)

11 Springs - ' 12 Springs




Boadrary

Pneumatic Components

Output Torque of Double Acting Actuators a8 ,b g3 6531 Jac 5295 jolidiS
A
Butterfly valve b 100%
100%
Plug valve 80%
Ball val 100%
o \_/ o
Open 0° Operating 90° Close 90°

Note: Make sure that torque necessary to operate the valve is compatible with the actuator torque (it depends on both actuator type and air supply).
Please note that the requested torque depends not only on the valve, but on the working conditions and the safety margins of the plant in question, too.

(03 a0l (51990 6 Oiuulg P 9 CawwldAuiS Jac ég&bgﬁuqlgm)musjbuoﬂt}ac)gm L gl 3,8 Jac gl U jglidiS 68 Sugud ¢janho 10595
e s 5 3590 3 41 (libl il g (518 bl 6 oduunlg 6L Cuwl pad 6 6liuulg lgis oo iU jgLidiS 68 3,18 653 Lkl

Weight Table wisJos?
Modle 32 40 52 63 75 83 92 105 125
(DA) 0.7kg 1kg 1.4kg 2kg 2.7kg 3.1kg 4.6kg 6.8kg 8.9kg
(SR) - 1.7kg 1.5kg 2.1kg 2.9kg 3.6kg 5.2kg 6.9kg 10.1kg
Modle 140 160 190 210 240 270 300 350 400
(DA) 13kg 20kg 31kg 47kg 67kg 97kg 110kg 186kg 289kg
(SR) | 15kg 24kg 35kg 55kg 80kg 118kg 130kg 234kg 360kg
Air Consumption
Igat 8 yua0
Air Volume opening & Closing
Model Air Volume opening Air Volume Closing Model Air Volume opening Air Volume Closing
32 0.04 0.5 Lt : 22 22
40 : 0.08 0.11 190 =5 =
52 0.12 0.16 = 52 >z
63 021 023 D40 0 5
75 03 034 270 I 17 4
s 43 o 300 238 29.7
T s e 350 35.1 463
FTI - o 400 526 56

Air consumption rest with air supply air volume and action cycle times, expressions:

L/Min = Air volume (Air volume opening + Air volume closing) x [{\ir SuEE'Xl(gf_aaF 101'3] x Action cycle times/min
] :&:e.llsél:'al.oja.‘,_..zgIppp‘o;ﬂ:uﬁnﬂlslgm&JLgnbﬁuulwtﬂnlgmdm

odudy pulled Sloj 65,2 |Ef\" Sugglyi(g{gaaplm.a_ (Vi 5lg P22 + (53S jb 5lg P22 a2y I P22 = 6dSs 4y yial s 4 198 b juao




Double Acting and Spring Return 120°, 135°, 180° 120°, 135°,180° I ,id g 68 ,bgs

In order to meet the special requirements of control valve we produced special stroke actuators on consumer request (e.g.120° 135°, 180° etc.)

(°180,°135 ,°120)mus,S 3algs ols (5l S 4> Indo b ool 63558 Jac «5idiuo CauwlgS )3 Gab Lo o508 b 0759 ilol I 613 1 gk oy

Length of DAXx180°
OO
4‘;’ — ——
oo
-9
- z L

siw | 5 63 75 83 92 105 125 140 160 190 210
Z(mm) | 213 | 243 | 258 | 298 362 386 429 569 652 756 760

For Output torque of double acting actuators, please refer to the torque of 90° actuators.

.39 6221306235 9o Gl 63:3S oo jglidhS oy lak) 68 3b g (5ls 63338 Jac 29> 5glihS (5l

Three position actuator a890 buw 635S Joc

Three position actuator provide on operation of 0°,45°, 90° or 0°, 90°, 180°. NS o el 1 0%, 90°%, 180° Ly 07, 457, 90° 3,Slac hieSgo oun 03038 Jos
The midway stop positions adjustable. 23948 ;0 Jral> 5SS gy 93 (59 SIS0 giwl Sy hugl ilio Ciaelgo
Example: - Auane @bk b8 ilo gl (gl CaaeSgo gl
90° actuators can provide 20°, 30°, 40°, 50°, 70° etc. :Jlio

.S ol 1y ... g 20° 30° 40°, 50°, 70° sslgi o0 90° 6343S | Jac

Output Torque w323

For output torque of double acting actuators please refer to the torque of 90° actuators.

3,08 0wzl 10 90° (5l 653 | Joc gLiiS ou ik 08 3b g (5ls 6333S | Jac 52945 59l gl

DA-3P (90°)
00
z W L/ NAMURGI/#' -
3o 52 s
L z . ]

sizw | 503p |63-3P [75-3P [83-3P | 92-3P [105-3P [125-3P | 140-3P | 160-3P [190-3P | 210-3P
Z(mm) | 266 | 303 | 336 | 298 394 410 456 570 646 788 788




Bodrary

Pneumatic Components

Operation Conditions

SIS Jbw -1

03595 ot 5l JS Ly o 58 yg ) Ly S slged
83Ul ol (519 jLins-p

ol JU PO 0360 uols jLES oo

Cuwl JU A 0360 ol jLES ioawuSle

1-Operating media

Dry or lubricated air, or the non-corrosive gases

The maximum particle diameter must be less than 30 um
2-Air supply pressure

The minimum supply pressure is 2.5 Bar

The maximum supply pressure is 8 Bar

3-Operating Temperature &I slos-P
Standard: -20°C ~ +80°C : -20°C ~ +80°C =5 I3l
Low temperature: -35°C ~ +80°C -35°C ~ +80°C: iyl slos

High temperature: -15°C ~ +150°C N RS
4-Travel adjustment -15°C~ +150°C :UL slos>

Have adjustment range of +-5° for the rotation at 0° and 90° Sy pubi-e

5-Application 8253 395 9 8253 o 33 193 sl +-5° 639330

Either indoor or outdoor s
SB6-6

Jbsbad ;s pad g ol sLad ;> P

was S glastiowl

Mounting Standard

Air supply connection is designed in The Namur drive pinion and the NAMUR Bottom mounting connection is designed
accordance with NAMUR standard to top mounting connection permit direct in accordance with 1ISO5211 and DIN3337
install solenoid valves. installation of accessories such as limit standards for direct mounting with valve
switch box and positioner. gear boxes or mounting brackets.
S 3liwl Gab 0.30% (g0l 5lged Juasil 1906 UL jluas Juasl g 590l S j20 (g 1505211 gl jIssliawl Gab ¢l 1y Juasl
S593Jgun (5l s a5l gl @9 S Jio ildlslio adtiuse wual o jLol 6l Sy 1S b padiiue wuas gl DIN3337 g
Cowl o3 2Lb - jga 9 ol 0363 (21 b L S b i
s oloss

Other Service




rearwy

Pneumatic Components.

New Ideas for Automation

Head office

No.105, Forsate Shirazi St.,
North Eskandari St., Tehran
1419794761 IRAN

Tel :(+98 21) 66 92 21 70
Fax : (+98 21) 66 92 90 04

www.badranpneumatic.com | www.badran.ir | email: info@badranpneumatic.com

Factory EHEN

No.143, 3yass St. Taies S ygdis ! oGl
) . ) i u.aa.a.a.a )e.a.u_‘)_):l-‘ 8]

Hashtgerd Industrial City, ¥ ool ) 3l S

Alborz Province, Iran
Tel :(+98 26) 44 22 33 20
Fax : (+98 26) 44 22 52 78

SYESPEYYY. Y. ik
'Yf_‘p“YYOYVAZLASJJJ

S5y S

o oSl bl - o Les
V08 b aa fobba
VRARVAFVAY : oS
SYV-FFAYYAVL: al

SYV-£FAY 4. - ¥ LQ:\‘)JJ



	Untitled



